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2. An individual lives for two periods with certainty, and for a third period with probability 50 percent. He
finds out at the end of period one (after he has done his consumption) whether he will die at the end of
period two or at the end of period three. He has earnings of one unit in the first period, and no labor
income thereafter. His instantaneous utility function is u(c,)=In(c,). He can borrow or lend at an
interest rate of zero, and has a time discount rate of zero.

(1) What is his first period consumption? (10%)

(2) Suppose the utility function was quadratic instead. Would ¢, be higher or lower in this case? (5%)

3. An individual lives for one period with certainty and may live into a second period with probability p,
where 0<p<1.He knows the value of p.He does not find out whether he lives in the second period
until after he has done his first period consumption. He has labor income w, =2 in the first period of
life, and no labor income in the second period of life. His first period utility is In(c,). The time discount
rate and interest rate are both zero.

(1)Find ¢, and ¢, assuming his second period utility is In(c,). (10%)

In(¢2),ifc; =2 ¢4
Assume now that his second period utility is: %(¢2) = {m(cz) i ile. <o .

(2) Find out the optimal value of first period consumption as a function of p. (15%)
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